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Parcours fléché 2 : Développer et réduire une expression grâce la double distributivité 
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Développe et réduis les 

expressions. 

𝐴 = (𝑥 + 6)(𝑥 + 2)  

𝐵 = (𝑥 + 5)(𝑥 + 4)  
 

 
 

 

 

 

 

 

 

 

      

 (𝑎 + 𝑏)( 𝑐 + 𝑑 ) = 𝑎𝑐 + 𝑎𝑑 + 𝑏𝑐 + 𝑏𝑑 

 

M N 

O P 

𝐼 = (3𝑥2 − 4)(2𝑥 + 5)  

𝐽 = (2𝑥2 − 3)(5𝑥 + 7)  

 
𝐾 = 6(𝑥 + 5)(𝑥 + 3)  

𝐿 = 7(𝑥 + 4)(𝑥 + 2)  
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𝑂 = (3𝑥 − 5)2  

𝑃 = (4𝑥 − 6)2 

 
𝑄 = 3(2𝑥 − 5) + (2𝑥 − 3)(3𝑥 + 1)  

𝑅 = 5(2𝑥 − 3) + (4𝑥 − 1)(5𝑥 + 2)  

 𝑆 = (𝑥 + 5)2 − (3𝑥 + 4)(𝑥 − 2)  

𝑇 = (𝑥 + 4)2 − (2𝑥 + 3)(𝑥 − 4) 

 

  

𝐸 = (𝑥 + 2)(𝑥 − 7)  

𝐹 = (𝑥 + 6)(𝑥 − 3)  
 

 
 

 

 

 

 

 

 

 

      

𝐺 = (𝑥 − 2)(𝑥 − 3)  

𝐻 = (𝑥 − 6)(𝑥 − 4)  
 

 
 

 

 

 

 

 

 

 

      

𝐶 = (2𝑥 + 8)(3𝑥 + 1)  

𝐷 = (4𝑥 + 3)(5𝑥 + 1)  
 

 
 

 

 

 

 

 

 

 

      

𝑀 = (𝑥 + 7)2  

𝑁 = (𝑥 + 8)2   

 


